MA 15400, Fall 2014

Exam 2 Answers

Question Form 01 - Green Form 02 — Orange
1. 53 E 10\3 C
2. 21.1 B 23.6 E
3. c=asecp C c=acsca B
4, 742 feet A 836 feet A
5. 22.1° C 21.7° B
6. 168 miles D 175 miles C
7. S69°W C S66°W D
8. 9:£+7rn A 0=2_7z+7m B

3 3
T T 5z
0. 0=—+h,—+7n B 0=—+7n,—+7n A
3 6 6
37 7n 11r 157 7 57 97 13r
10. O=—"— — — == D === = == C
8 8 8 8 8 8 8 8
T 5t & Tz 11z 37
11. 0=— == C - = D
6 6 2 6 6 2
12. sin(20°) B sin(50°) C
13, t=0,7% 2% B o,z 2% 47 A
3 3 3 3
3 3
14. — D — C
5 5
11 11
15. — E — E
61 1




